
 

Page 1 of 8 
 

RM470174  Rev 1 

Phone: 1-800-222-8785 

www.masterack.com 

Air or Hand Ratchet 

7/16” Combo Wrench 

Torque Wrench 

7/16” Socket 

 

 

 

  

 

 

 

 

 

 

  

 

 

 

 

 

 

 

 

 

  

INSTALLATION INSTRUCTIONS 

Recommended Tools 

Hardware 

CARRIAGE BOLT .25-20 x .75" 

RM510107 Qty 4 

 

 

LOCKING FLUSH MOUNT DOOR  

MOUNTED AT A 

INVERTED SHELF 

(FLANGES FACING DOWN) 

MOUNTED AT A 

REGULAR SHELF 

(FLANGES FACING UP) 

 

NUT HEX NYLOC 1/4-20 ZN GR2 

RM520312 Qty 4 

 

 

RUBBER GROMMET 3/8 X 3/32 

RM560235 Qty 2 

 

 



 

Page 2 of 8 
 

RM470174  Rev 1 

Phone: 1-800-222-8785 

www.masterack.com 

  

 

 

  

 

 

 

 

 

 

 

 

 

 

 

  

 

  

 

 

 

LOCKING FLUSH MOUNT DOOR  

PART IDENTIFICATION 

LOCKING FLUSH MOUNT DOOR 

PN / RM580350 

ROUND FLUSH MOUNT HANDLE KEYED 

TOP BRACE FOR  

FLUSH MOUNT DOOR 



 

Page 3 of 8 
 

RM470174  Rev 1 

Phone: 1-800-222-8785 

www.masterack.com 

TOP BRACE FOR  

FLUSH MOUNT DOOR 

 

TOP BRACE FOR  

FLUSH MOUNT DOOR 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

   

Align mounting holes in TOP BRACE with mounting holes in INVERTED SHELF AND UPRIGHT and secure using: 
(4) 1/4-20 x 3/4 Carriage Bolts 
(4) 1/4-20 E-Stop Nuts 

 

MOUNTED @ A 

INVERTED SHELF 
(FLANGES FACING DOWN) 



 

Page 4 of 8 
 

RM470174  Rev 1 

Phone: 1-800-222-8785 

www.masterack.com 

  

NOTE: Attach (2) Rubber Grommet to the inside 

edge of the Storage Door as shown here. 

 



 

Page 5 of 8 
 

RM470174  Rev 1 

Phone: 1-800-222-8785 

www.masterack.com 

 

 

   

  

Align mounting holes in DOOR with mounting holes in 
FLOOR BRACE and secure using; 
(4) 1/4-20 x 3/4 Carriage Bolts 
(4) 1/4-20 E-Stop Nuts 

LOCKING 

FLUSH MOUNT 

DOOR 

 

FLOOR 

BRACE 

MOUNTED @ A 

INVERTED SHELF 
(FLANGES FACING DOWN) 



 

Page 6 of 8 
 

RM470174  Rev 1 

Phone: 1-800-222-8785 

www.masterack.com 

TOP BRACE FOR  

FLUSH MOUNT DOOR 

 

    

Align mounting holes in TOP BRACE with mounting holes in UPRIGHT and secure using: 
(4) 1/4-20 x 3/4 Carriage Bolts 
(4) 1/4-20 E-Stop Nuts 

 

MOUNTED @ A 

REGULAR SHELF  
(FLANGES FACING UP) 



 

Page 7 of 8 
 

RM470174  Rev 1 

Phone: 1-800-222-8785 

www.masterack.com 
MOUNTED @ A 

REGULAR SHELF  
(FLANGES FACING UP) 

Prep Door (See Page 4) 
Align mounting holes in DOOR with mounting holes in 
SHELF and secure using: 
(4) 1/4-20 x 3/4 Carriage Bolts 
(4) 1/4-20 E-Stop Nuts 

LOCKING 

FLUSH MOUNT 

DOOR 

 



3 Year / 36,000 Mile Limited Warranty 

(3) years or 36,000 miles (60,000 KM)


	Warranty Page.pdf
	Page 1
	Page 2
	Page 3
	Page 4
	Page 5
	Page 6
	Page 7


